EXERCISE

Very Short Answer Type Questions

Q.1

Q.2
Q.3

Q.4

Q.5
Q.6
Q.7
Q.8

Q.9

Q.10

Q.11

Q.12
Q.13

Q.14

Q.15

What do you mean by social differences and
social division ?

Give the nature of social division/diversity.
How social differences are based on accident
of Birth ?

Is it necessary for people belonging to the
same religion to have same caste ?

Does every social difference lead to division?
What is overlapping difference ?

What is cross cutting social difference ?

How is overlapping difference different from
cross cutting difference ?

Give the multi dimensional or multi cultural
nature of social division.

Mention any two factors responsible for the
origin of social differences ?

What is homogenous society ? Give two
examples.

Mention any one impact of migration ?

How are social divisions reflected in
politics ? Explain.
When does a social difference become a
social division ?
Smith and John Carlos

received their medals wearing black socks

Why Tommie

and no shoes ?

Short Answer Type Questions

Q.1
Q.2

Q.3

Q4

What are the basis of social differences ?

Are divisions inherent to the working of
democracy ?

Can the politics and social divisions be
allowed to mix ?

Examine the ways in which social divisions
are reflected in democracy.

Q.5

Q.6

Q.7

Q.8

Q9

Name the two athletes who raised the issue of
Civil Rights in the Mexico Olympics. What
methods were used by them ?

‘Overlapping social differences create
possibilities of deep social divisions and
tension’. Explain.

Combination of politics and social divisions
are very dangerous and explosive. Explain.
“‘Social division of one kind or another exists
in most countries’. Explain.

‘In a democracy, political expression of social
divisions is very normal, and can be healthy’.

Explain.

Long Answer Type Questions

Q.1
Q.2

Q.3

Q.4
Q.5

How does social division take place ?

How does social division affect politics ?
Give examples.

Discuss three factors that determine the
outcome of politics of social divisions.

Explain the reasons of social difference.

Explain the overlapping and cross cutting
difference.

Multiple Choice Questions

Q.1

Q.2

Q.3

Q4

Black power movement was emerged in -
(A) 1966 (B) 1975
(C) 1969 (D 1972

..................... means conflict between various
social groups.

(A) Social division  (B) Social conflict

(C) Black Power (D) Civil Right
Mexico Olympic games was held in -

(A) 1965 (B) 1966

(C) 1967 (D) 1968

John Carlos won the bronze medal in ...........
race.

(A) 400 m (B) 100 m

(C)200 m (D) 1000 m



Q.5

Q.6

Q.7

Q.8

Q.9

Q.10

Q.11

Q.12

Social differences are based on the -

(A) Birth (B) Caste

(C)Rich (D) Poor

Civil Rights Movement in the USA was
launched by -

(A) George Washington

(B) Abraham Lincon

(C) Martin Luther

(D) All the above

Democracy involves -

(A) Competition among various political
parties

(B) Religious inequalities

(C) Cultural diversity

(D) Conflict, violence and disintegration

.................. party system is undemocratic
because people have no choice.

(A) One (B) Two

(C) Multi (D) All the above

Civil Rights Movement in the U.S.A. was
started in -
(A) 1952 (B) 1954 (C)1956 (D) 1958

Which country suffered disintegration due to
political fights on the basis of religious and
ethnic identities ?
(A) Belgium

(C) Yugoslavia

(B) India
(D) Netherland

Tommie Smith and John Carlos received their
medals wearing black socks and no shoes
(A) to support Civil Rights Movement

(B) to represent Black poverty

(C) to show Black power

(D) None of these

The silver medalist, white Australian athlete,
Peter Norman, wore a human rights badge on

Q.13

Q.14

Q.15

his shirt during the medal ceremony of

Mexico Olympics ........cceeeveneennenn

(A) to represent Black Poverty

(B) to support Civil Rights Movement

(C) To show his support to the American
athletes

(D) to show his anger for the IOA

The International Olympic Association took

back the medals of Carlos, Smith and Norman

(A) for using drugs

(B) as they were found guilty of violating the
Olympic spirit by making a political
statement

(C) as they were overage

(D) as they refused to come to the stage to
collect their medals

Catholics and Protestants have had conflicts

in Northern Island, while they do not do so in

the Netherlands ...................

(A) Because class and religion overlap with
each other

(B) Because class and religion cross cut each
other

(C) Because class and religion don't matter

(D) Cross cutting social differences are
difficult to accommodate

The movement emerged in 1966 and lasted
till 1975 to end racism in the US. Identify the
movement

(A) The Black Power Movement

(B) African-American Movement

(C) Civil Rights Movement

(D) Non-Cooperation Movement
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